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Direction : Ans ] '
wer the following questions by selecting the most appropriate option.

1. Frefafed & @ -8 Ry .
N TR ? . RIS 1. Which of the following is nof a level
' of teaching ?
1] AT :
(1] ® [1] Basic Level
2] F T [2] Memory Level
(3] El.l IEASH |3] Understanding Level
(4] fﬁﬂ:‘[.'{ﬂ'{ / [4] Reflective Level
2. TH [IE & w1 H oy feenfiEt @ 2. As a teacher which of the following
w fEm = %’g’ work would not be done by you 1O
Pr=ieiaa & ¥ BT FA T B 7 develop the creativity of the students ?
M Afererar @i Sreare [1] Encouragement of originality
[2] 9@ & N HTEL [2] Removal of fear
[3] wfcisrar H E?iﬁ?ﬁ, [3] Freedom to respond
(4] Irqary ’&es & o EEAE [4] Avoidance of divergent thinking
3, @ 15 98 3w B g a = 3. What will be the intelligence
2rf, S IES S Y 12%7? quoticnt of a 15 year old boy, when
his mental age is 12 ?
[1] 80w [2] 90 [1] 80 [2] 90
[3] 100 [4] 110 [3] 100 [4] 110
o deet & Rsforgaw, 8 FE 4. According to Kohiberg's theory,
T & S 3, v SRE H - Tl what level of morality is it, when
H " .
Sferer Rsfa wffed g S g7 morality  includes  self-accepted
moral principles ?
] Pre-conventional
(1] e e
[2] Conventional
(2] ®e™ /1 :
[3] Post-conventional
[3] ST-TleT
[4] None of these
(4] T & g T Y < B
At 4 P, 7
'.llnexil'el-3:”9‘-"z ‘//P:( L ﬁ Q,
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(D] [4]

5. Nl B EEEN TIgET R @
YT @ STATTH & 7
[1] R [2] qreTE
[3] A [4]

6. X # Ak Fiigo, AfFd
FTH & FhE SUFH @ Hefa € 7

[1] sier Surm
[2] ¥FX ITHY
[3] 77 mghy 3urm
[4] FRRTIEST IUFH

1. fow & s Rew Reiager,
fepsmRTeET ® ¢

[1] e arefaewar @ sraen
[2] gamE @t Afcewar @ oEen
[3] W Afcsar &l STae

S.

|

[

According to  Maslow's  Need
Hierarchical theory, 'Esteem Needs'

are which type of need ?

[1] Personal [2] Social

[3] Intellectual [4] Emotional
Spranger's classification of
personality is related to which

approach of personality assessment ?
[1] Trait Approach

[2] Type Approach

[3] Instinct Approach

[4] Psychoanalytic Approach
According to the moral development
theory of Piaget, adolescence period
is :

|1] Stage of moral realism

[2] Stage of morality constraint

[3] Stage of heteronomous morality

[4] Stage of autonomous morality

"Emotional may be
defined as the capacity to reason with

Intelligence

emotion in four areas — to perceive
emotion, to integrate it in thought, to
understand it and to manage it."

Who pgave (this definition of
emotional intelligence ? J

[1] Daniel Goleman
[2] Mayer and Peter Salovey
[3] Peter and Michae]

[4] Halverson
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o, PrRMEE ¥ A Bo-w wE R

N FHNETH B9 A T Hear ® ?
[1] e feugaeg
(2] RO B FH
[3] SREROT & FHI

[4] e SgRe

1o, B Rsid & oTER, PR

T P IR B T SRR 7E R

[1] ﬁaﬁwwﬁ [2] o
3] ¥ (4] HEERS,
11, TF R Rt

(3] s A

[4] gnfcisrar & Fam,
&aﬁﬁﬁemﬁ%gqmﬁzﬁaﬁiﬁﬂ

I

7

[1] T T A

[2] &

(3] STESTH

(4] Slferdré o dew

[5]

9.

1. A teaching-learning

[D]

Which of the following factors
positively affects learning ?

[1] Meaningless content

[2] Lack of maturation

[3] Lack of motivation

(4] Informational fecdback

According 10 Triarchic  Theory,
which of the following is nof a type
of intelligence ?

[1] Analytical [2] Creative

[3] Theoretical [4] Practical
strategy  in
which small groups of students with
different level of ability usc a variety
of learning activitics Lo improve their
understanding of a subject :

[1] Multi-sensory learning

[2] Team teaching

[3] Co-operative learning

[4] Programmed learning

'A horse can be brought near waler,
but cannot be forced to drink."” This

statement reveals the truth of
Thorndike's which law of learning ?

[1] Law of Readiness

[2] Law of Exercise

[3] Law.of Effect

[4] Law of Multi Responses

Who developed the Thematic

Apperception Test for personality
assessment ?

[1] Murray and Morgan
[2] Bellack

[3] Eysenck

[4] Allport and Cattell

Pu T. 0‘
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Rarg o ‘9% § Y & o T §,
FEa &

Frefafed & ¥ $F-T SA%AT B
yRRafee o5 Risid & 5 F& e ?

[1] 5zl Rew [2) 3R faeed
[3] e X Ryeew [4] B9 Rren

iR qEE @ e i @
T D P S § 7

[1] a¥ferare 12) gead
(3] Aagm 4] omeeis

W St & P g § @
PA-TT G T F o Ge e 7

'S T fRAT o A-f e
e & argee far B, @ g8 a(wW
HE AT BT A I FHE BT &l
g6 P uER & wed IR #@ 0

JEETT & 7
2] T~

[1] &4
(3] SEgoy (4] Feremys

Level.3/907

[6]

14.

Development  which  proceeds  [rom
'centre to the periphery’. 1s known as :
[1] Cephalic Caudal

[2] Proximodistal

[3] Spiral

[4] Circular

Which one of the [ollowing is nor a
part ol Bronfenbrenner's licological
System theory ?

| [] Microsystem |2] Macro system

[3] Minorsystem [4] Meso system

Who is called the [lather of Trait
Theory lor study of personality ?
[1] Allport [2] Woodworth

[3] McDougall [4] Eysenck

Which of the following pairs of
communication skills is correct for
receiving the information ?
[1] Listening and Writing
[2] Speaking and Reading
[3] Listening and Reading
[4] Spcaking and Writing

'When an adolescent is unable to
show anger to his parents, then he
shows his anger 1o his younger
brother." This is an example of which
type of defence mechanism ?

[2] Regression
[4] Displacement

| 1] Repression
[3] Projection
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[7]

19.

[D]

Which one of the following is mof a
dircct method  for measurement of
attitude ?

[1] Interview (2] Projection

[3] Questionnaire (4] Observation

Which pair is nof correct with referenct

to emotions and basic instincts 7
Basic Instinct

Emotion
[1] Anger _  Repulsion
(2] Ownership  — Collection
(3] Wonder _  Curiosity
|4] Fear —  Lscape

A type of intelligence test in which

the difficulty level
gradually increases and the time

of questions

factor is secondary :
[1] Verbal Test

(2] Power Test

|3] Speed Test

|4] Performance Test

Which of the following statement is

not correct with reference to

individual differences ?

[1] No two persons can be exactly

alike.

(2] [ndividual  differences may
belong to different areas.

[3] Individual differences affects
different dimensions of
development.

(4] Individual differences  arises
only due 10 heredity.

P.T.O,
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P & @ @w-w ReRE &
TR R W@ & G TE 8 7

[1] Feat g &% e

[2] e § e

(3] o et o dmel @
Bkl

[4] oraifa Rimelt & g

R 3 e B Rl

AIER, WEHE WA A T8

T g1, S Rl ST e

% fFaags § wog ol ¥, wean

§:

(1] Few s

[2] T sgRwr

(3] =

[4] &G

R @ e R w3

B8 T s SugE § 7

[1] SHEHRET ) et 2
[2]amﬁ1zsgaﬂwﬁaiunﬁ|ﬁﬁm
(3] arffes Mffdt & omiee
[4] Ao deet T g

26. Prfed 4 § -0 R

T T fadwar 787 S 7

(1] 3% diter ) araeer

[2] 9% Sarefasarslt @ s
[3] 3% Teum & €@ @ @ 2
[ﬂ%%ﬁwzﬁa‘ﬁﬁwb

[ Level-3/902

-

[8]

Which of the following is nor a
symptom ol good mental health of
students ?

[1] Living in fantasy world

[2] Balance in life

[3] Knowledge of our potentials and

limitations

[4] Free from undesirable worries
According to Piaget's Cognitive
Development Theory. 'The basic unit
of the cognitive structure that helps
in the implementation of cognitive
behaviour', is termed as :

[1] Reflexes

[2] Basic Instincts

[3] Schema

[4] Conservation

Which way is the most appropriate

for social of
adolescents ?

development

[1] Discussion on socialization

[2] Essay competition on social values
[3] Organizing group activities

(4] Documcnllar)' on social relations
Which of the following is not a general
characteristic of adolescence period ?
[1] 1tis a transitiona] period.

[2] Ttis period of unrealism.

[3] 1t is time for search of identity.

[4] It is the threshold of puberty.
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FX ¥ T Th ST ©
[1]3Tiaﬁiﬁﬂf‘¢lﬁ'(“ﬂﬁf
[2] & SIRERET

[3] ST AR
[4] =% & P T

28, @ U@ O] (& FHR H ARERS & 7

[1] =red
[2] aTiE-
(3] =R
[4] @R

2. ¥9 U Mg den § uiimeet &
& @ ol @ gHEeE SR
T ar ®, o g8 e omeR @
IeeE SggEl © ¢
(1] Fivea srgurd
(2] SR ST
(3] FiYaq efver
[4] TRadshe s

0. frefifeg & & f-@r Fd T
Yef & gomTerEar e @ Ee
T R?
(1] srameRer Sydnr dedr #d
2] T 3 wer Wi G & FEEE

q;l-ﬁ/ -

[3] SR gar e FA

~L 1) B . o et e

[9]

[D]
Rohit helps others Lo get praise. This
is an example of ;
[1] Intrinsic Motivation
[2| Extrinsic Motivation
[3] [nnate Motivation
|4] None of these
Hunger and Thirst is which type of
motive ?
[1] Extrinsic
[2] Acquired
[3] Intrinsic
4] Social
What type of reinforcement schedule is
it, when reinforcement is provided to
the leamer only afier a certain number
of responses ?
| 1] Fixed ratio
|2| Variable ratio
|3] FFixed interval
[4] Variable interval

Which of the following task is not

related to Baqer Mehdi's test of

Creativity ?

[1] Unusual uses related task

[2] New relation between pairs
related task

[3] Product
task

_Improvement  related

[4] Ask and guess related task

Level.3/907
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31.

R Feee # Rrert wfw & ST EST
Bt

[1) gfRReT-

(2] F9gS

[3] TRIucEr

© (1] TR HEER TEAR B
S [2) TR gl g @

(3] 98 U9 & I A @ &

(4] e @ ST AT WO
3. B o= ¥} ofe ST @

ST g & 7
(1] ST=ATH :3&
[2] F=ET YA

[3] o ¥
[4] =M

Level-3/907
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35.

36. Ty feeq § Fromares s & A

i QA Bg g A ‘T SO
s 78] g &

1] T 0,2
2] wTE -
(3] g=e

4] TS

T © 7

[1] &5 1O &M @4 FH =Medl
(2] N dfg v, S aE N
3] &7 Bl o g T Reme wR
[4] ST B, T4 & w0

g qH wed g Ram g A
TR e q= FE-
JETEXT Br ?

[1] SergarEs G5

[2] snfcrarees ds

[3] wrEEre Hs

[4] =T d@sm

TR QR e a7
(1] 94

2] @™
13] 4R -

[4] =i
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[11]

;Lg_q‘qmlﬁ B IR J o R
gﬁm,:
(1] 7T - T&H, JqmE,
T
2] TE - UG, FER, T
[3] TR - Heldw, R,
agfen

e B r 4

(1] 3=~ ' ’*:«
ad s

[2) Faty (‘gﬂﬁ *
w’

(3] g %

[4] &<

(1] T -  HHURA
[2] W@ - §geY
(3] e - &

(4] TS - Fgite

sz_.wgﬁﬁwzhﬁmﬁfﬁfﬂéaﬁﬁ

[4) T -y e s T

-gﬁz@réﬂaﬁm% .
(1] w2 - ¥ i, @e 7 T

[2] o - O, g - B
(3] g - w; g -

[D]

43. ‘T gqq}'a G| Tlé[" qry ﬁ
ﬁsﬁm%m-ﬁWﬂnﬁWEW
%7

(1] Semaras,

(2| Qfcames,
(3] SRETOTETE
|4] EFEEH

44, ‘GOE-0ETE W g § FEIT [T
g :

[1] dmem - @t
ey -
(3] e - T
[4) A&s - A

45, foem @ gfe § o e T

Level-3/907

(1] STem - e
2] @ - S
3] FW - WM
[4) T -
P.T.Q
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[D]

Dire

g6. Fill i

3T (ENGLISH)

Jlecting the most appropriate option.

ction : Answer the following questions by se

n the blank with the correct

form of verb :

You had bc,ly:,r
hands before you;"cal.

-------------

t
8

[1] been washing
[2] washing .,
[3] washed -

[4] wash .

Which of the following sentences is

the correct option to express present

perfect continuous tense ?

[1] Mr. Mehta has been waking for
2 O'clock in the morning.

[2] Mr. Mehta has been waking
since 2 O'clock in the morning.

[3] Mr. Mehta has been waked since
2 O'clock in the morning.

[4] Mr. Mehta has been waking
from 2 O'clock in the morning.

48. Fill in the blank with the correct

option :

Let us stay here, while it ........... :
[1] is raining

[2] was raining ¥

[3] has been raining -

[4] had been raining

Level-3/9027

49.

Fill in the blank with the correct
option that completes the idiom :

A rolling stone .......... i
|1] carries rough winds
[2] kills no one

|3] gathers no saucc

[4] gathers no moss

Choose the part of the sentence that
is grammatically incorrect :

He has committed / a blunder /
mistake / today morning.

[1] He has committed
|2] @ blunder
[3] mistake

[4] today morning.

Change the narration :
Kavin said to Mr. Cowper, "Please.
be kind 1o me."

|1] Kavin requested Mr. Cowper to
be kind to him.

[2] Kavin requested Mr. Cowper to
be kind to me.

|3] Kavin asked Mr. Cowper 1o be
please kind to me.

[4] Kavin asked Mr. Cowper that he
must be Kind to him.

" The word 'garrulous' means :
by [1] talkative

[2] abusive

3 !/ violent [4] abundant
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s3. Choosc the part of the sentence that

55. Arrange

is grammatically incorrect :

The thiel took towards/his heels/on
seeing/the Police-van arrive. :
[1] The thief took towards

[2] his heels

[3] on seeing_

[4] the Police-van arrivg.

Fill in the blank with the correct
option :

When Monisha reached
stand, the bus ........... .
[1] was already lefl

[2] had already Jefl

[3] already lefl_

[4] has been already left

the following jumbled
options in the correct order and then
choose the cerrect option :

(i) too many (ii) spoil

(iii) the broth (iv) cooks

[1] (i), (iv), (iii). G~

[2] (i), (iv), (ii), (iii—

[3] (iii), (iv), (ii), (1-

[4] (iv). (iD). (). (iii/)

Which of the following options

express the correct meaning of the

sentence given below ?

He is too cute 10 overlook.

[1] He is too cute and
overlooked:  —

[2] He is too cute but he ca

~overlooked.

[3] He is so cute that
overlooked.

(4] Although he is not cute,

the bus

he can be

n be

he cannot be

but he

[13]

(D]

Choose the correct passive of the
given sentence : '
Did he kill a lion ?
[1] Did a lion killed by him ?
[2] Was a lion killed by you ?
[3] Was a lion killed by him ?
[4] Had a lion bgen killed by you ?

Fill in the blank with correct 'Modal
Auxiliary' :

not walk

Passengers
across the railway linc.

------------

(Prohibition)

[1] should [2] can_~

"[3] need / (4] must ;.

Fill in the blank with the correct
form of verb :

Neither you nor she .......cee.. made

the mistake.

cannol be overlooked.

—

——

Level-3/907

[1] have [2] has
[3] had (4] Eilg
Fill in the blank with the correct
option :
Mr. Sudhir Soni is ........... R.A. S
Ofticer.
[1] an (2] a
13] the 4] x

. .

P.T.0;
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[14]

77 - I (PART — ITD)

gy 9 (GENE
Mg 79

RAL STUDIES)
3IRET (QUANTITATIVE APTITUDE,

REASONING ABILITY AND G.K. & AWARENESS)

6. T F@ H SwEEn 9000 B, AR god

F FEE ghe X 5% ol Hiewsd
H ghe W 8% @ @ T g4 A
SMEE 9600 B, @ W H ae
t:

[1] 3000 W "
[2] 4000 , IS
[3] 5000

P
[4] 5600 .. , Car

,{\of =

D, C @ E § &1 &, A, E & 31t
e e, CCAQ Ty, D.B®
e e T8 R A T N
TIY T & 7
[1] A
3] C

2] B~
[4] D

6. @ weH 3 PO B IR Fw

Level-3/907

FA B X 7 Fl B “g AL T S
& @ o B oae B, ae
X g v dEg © 7

[1]

[2] 7§

[3] W fgrer? IS

[4] AT ) % 'M
gr’”‘ a ?%u

aw@ afed A& g

lecting the most appropriate option.

—

61.

The population ol a town is 9000. If

increase by 5% and

the males

females by 8%, the population would
be 9600 in a ycar. The number of
males is
[1] 3000
[2] 4000
13] 5000
[4] 5600

D is taller than C and E. A is not as

tall as E. C is taller than A. D is not as
tall as B. Who is the tallest among
them ?
[1] A
131 €

2] B
[4] D

Pointing to a girl in photograph, X
said “"She is the daughter of my

grandlather's only son". Ilow is the
girl related to X ?

[1] Father
2] Brother !
[3] Sister
|4] Mother
i S d o
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[15] [D]
g, TH AN o7 gl TSl @ | f¥ed g4. A steam engine train runs {rom east L0
& A I T T T I F R @l west and wind is blowing from north to
AN} &4 O @ %, A I ga:n e south. then the smoke [rom the train
R & wQm ¢ would blow in which direction ?
[1] Se-Yo by [1] N-W
[2] So- T " s 2] N-E
[3] To-To 3] S-L
4] %o - Tor ) 4] S- W
§5. = ger Sl & ST I8 % I, 65. The next term of the following
6 e 28 AT number series is :
|
3, 13.22,32. 59, 69, 120, 130 2 My 3.13.22, 32, 59. 69. 120. 130. ?
¥ie J‘nklu nihe s ;1 3, 4
1] 201 2] 211 “ A [1] 201 (2] 211
L\ 52
[3] 227 (4] 232 Sh 13] 227 (4] 232
-_— — pot
§6. 9 T TS H A n B, 9’ I 66, The average of nine consecutive
X o gemel @ Wi B qumbers is n. If the next two
o v ST, W AT e R B S 1o numbers are also included. the new
A 2\ Y average is :
) ¢ v
“' 1] 98§91 T 1] remain the same
v (1] /_,ﬁ” " [1]
q? [2] 13 & s ’\q [2] increase by 1
& Q
R [3] 1@@(1‘?{ ¢ [3] increase by 1.5
l /_——/'“
5 'L" 14] 2 /ﬂ—@ﬁ |4] increase by 2
“
87 T THMER Th IE & 15% aF W 67. A shopkeeper sells an article at 15%
Yo B, oK oEd ou 18 FO AU gain. Had he sold it for Rs. 18 more,
F A B, A s 18% ®| s he would have gained 18%. The cost
W 96 9%y H A Cl ('{;o #) 4 ! price (in Rs.) of the article is :
i J_,rr ¥ ﬂ {.P _
(1] 360 (2] 540° f;a g [1] 360 [2] 540
1;
[3]1 600 (4] 640 pANAL [3] 600 [4] 640
:":“1-3/90'1 {3'1\43 C W ;; 6]-1 E ':-'{' Ie ,’.< |LL %T. g'\
o Ve,
T U VvV W £ ¥ &
“2 ‘&. ?g R\\ S"' T s 1
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[D] [16]

§8. T% H, R MREw gt @ | @ 68.

A boat covers a certain distance

Ram & 3 @ &, 5afF qu 4.5 0 F
T FE Y AR R it am 3 Red
A ger R, & 9 o § A9 &)
O B

in 3 hours, while it

comes back in 4.5 hours. II' the speed

downstream

ol the stream be 3 kmph, then the

speed of the boat in still water is ;

e
(1] 10 et iy efey 35 ! [1] 10 kmph
[2] 12 Rt afeyeer 1};‘ [2] 12 kmph
(3] 13 Rl oy ey i

(4] 15 o5y ifey ey

10.5 & Bear &1 @& g @ A
Redas, 3.5 &0 B a@er 3 &
SeE A FE B il ¥ aw R
T R TFER, IW G T g
He R aeft ?
(] 112

(3] 132

(2] 1267
[4] 138

70. {ORE @ X @& Y AR 1 ug-

T H T fe ¥ AR Y B qeR
X & = OX g3 @ @, @Y e
Pt oo 3 % 2
(1] S

3] @

[2] &Ry
[4] uf¥em

1. AR B TR affs Ry @

anmqt3afﬁzmmw
HIEET J-EI:IT?TW o T R

[3] 13 kmph
[4] 15 kmph

A metallic sphere of radius 10.5 ¢m
is melted and then recast into small
cones cach ol radius 3.5 ¢m and
height 3 em. then the number of
cones thus formed is :

[1] 112 (2] 126

[3] 132 4] 138

X and Y are facing cach other at
sunrise, The shadow of Y js falling
towards right of X, then Y ig facing
in which direction 2

|1] North [2] South

13] East 4] West

b a llmL ;

alter 3 years g com

pound interest
compounded annually

then the rate
mﬁﬁi ord % . of interest PEr annum is -
2 1, ,

[1] 165% [2] 333%< [1] 163/0 2] 33%%

[3] 33% [4] 50% 31 33% 4] s0%
\ ) -______...-—\} 1 .
Level-3/907 X ,Ej_,\/x oL i 1"'%:

%
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[17]

72. T & FEd § 20% HF A TN
@ TF Ted 800 T F 12,5 R
arae SOl @O% A g, @ O #
oo e i e R ® 7
(1] 127W 2] 14 30
[3] 1559 |4] 16 59

3. oM & @ aed H R,

qEIGA H 12 T q QUGBS
ﬁ%sqﬁwﬁmm@rﬁrw

f

11] 2726 12] 2736~
(3] 2796 (4] 2826 "’
74, 71 S 30T, T -?ﬁ il
2 .,muﬁ 15!
ZIA.X20. VEG. 121 REM. P445P. 2
1] 2676 m T2670N
26765 »f (4] M2670S * T
75. fdl dem @ 5. 9, 13 & i@ 15.
FE W HAW 2, 6 T 10 qG T
3 0w B8 §E R
[1] 602 [2] 592
3] 572 4
B3] 1412 zsluw'lw
16. U.EB PRed e s § "PARTICLE" 76.

"USBORMDI" T
zﬁfz %{éﬁglﬁdﬂs '

[1] VDLPUOSF ~ "i\b ﬂ

a7 "GENERATE"
e St 5 54
1 "DOCUME m "
L

[D]

A reduction of 20% in the price of rice
enables a customer to purchase 12.5 ke
more for Rs. 800, The original price of
rice per kgis
[1] Rs. 12
|3] Rs. I3

[2] Rs. 14
[4] Rs. 16

In a division sum. the divisor is 12
times the quotient and 5 times the
remainder. If the remainder is 36.

then the dividend is :

[1] 2726 (2] 2736

[3] 2796 (4] 2826

Find the next term of the following
series :

Z1A. X2D. V6G. 1T21). R88M. P445P. 7
[1] N2676T [2] 12670N

[3] N2676S |4] M26708

A number when divided by 5, 9. 13
and 10
respectively. The least such number is:
[1] 602 [2] 592
[3] 572 (4] 582

leaves remainder 2, ©6

In a certain code language
"PARTICLE" is written as
"USBQFMDJ" and "GENERATE"
is written as "FOFHIFUBS". then in
same code language "DOCUMENT"
will be written as :

[1] VDEPUOSF

2] VDPENIUQ

13] VDPEUOEN

|4] VDPEUOSF
e

P.T. O.
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[18]

& 79 P, Q TWT R &I U ¥ 5 e
oo & 9@ R Q ¥ g WA
T Q PRGN TR A ww ¥
MR T P aW I @ o F R
|99 T 7

(1] 228
[3] 30He
R g

(.1:1‘ +y1)¢[ T ®

F;BﬁQ
[2] 256 v é’ﬂ
[4] 35

V3-1
\EH‘

SR

@

:"_ r=
V3~ o

(1] 14
3] 13,

2] 12

14] 16

wefdl A @ o H, A Tt @R
108 9 W qar B 3/ R § 143
WE W B, 9% 3 aw Reftri g
T TN L, WA T SR YA 24F
®WH W # A 5, U F a9
e et & 7

[1] 31 [2] 33
[3]1 3%/ 4] 39

1865 T % &, 660 st A
¥ 3t 1305 T%E.Hrama%f%,m@
Izoaﬁﬁﬁﬁ%%"‘hww

dr R B, A P A A s
A e 7

\
lo

Iy

-

Iy
\o
Y

cey Y

[ 220, [2] 440 %

[3] 120 [4] 1085

Level-3/901 |

)

11.

8. [f

10

A tank is filled in 5 hours by three
pipes P. Q and R. The pipe R ig
\wice as fast as Q and Q is twice a5
fast as P. How much time will pipe p
alone take to fill the tank ?

[1) 22 hrs [2] 25 hrs
[3] 30 hrs

JSH
X=——a4a
J3-1

value of {x?+ ) is :

[4] 35 hrs

e

d v
n}\E+l

. then the

[1] 14 12] 12

13] 13 [4] 16

29. Inarow of girls, A is 10th [rom the

left and B is 14th from the right. If
they interchange their po‘sitipt;js. A
becomes 24th from the left. How

many girls are there in a row ?

[1] 31 12] 33

13] 37 4] 39

80. Out of 1865 people, 660 can speak

English and 1305 ¢ speak Hindk

but 120 persong cannot speak eithé!

lunguagc. lh(!l'l h()w many pgrso!ﬁ

~ ¢an speak both languages 2

11 220 2] 440

131 12 ;
I 120 4] logs

KTy
1%6C
220
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gl BT & UM & dEw §
frefeied Mt )X RER iRt
(i) @& sfEmT =iy Ryafoem @
HemaaRy B "
(i) 7@ T9 3 et st a7 & @ @
qIROT $T Thd S
(i)ge ST I HG aEEd,
B0 oY AT & IR F

(V)R R B o @
wigasy R T T8 B

S & & AR T g bR 7

(1) (). (i), (i) &R (iv)-
[2] Gi). (iii) 3R (iv)

[3] A (iii) =

[4] (i) 3T (iii) @ 2

82, =fRarm ¥ A% T IR T "W A
e ¥ :
[1] 73R 4
[2] 10 3T 4
[3] 10 3iR 5
[4] 1230 S
83. AT & R WA @B TR W
TIET ahg 3 ded THEC @A & w9
% afrgf R T g ? .
[1] GEME TeE-2aE 3R e
geig _
[2] FEX TEE SEF R GUEd
_ ggeg Gy .
[3] FeX a=ofg ervERed 9T €
Rreree TEEE_aMared
(4] SEWEY Tl oTETed, AR
QF-8-H geig ST9god
Level-3/907

[19]

81,

[D]

Consider the following statements

regarding the Governor of Haryana

(i) He is the Chanccellor of Central
University of [laryana.

(ii) 1le can hold any office of the
prolit in the State.

(iii) He is the President of Indian Red

Cross Socicty. [aryana State
Branch.

(iv)He does not have any
discretionary  power  granted
under the Constitution.

Which of the above statement(s)

is/are correct ?

[ 1] 1), (ii). (iii) and (iv)

|2] (ii). (iii) and (iv)

[3] Only (ii1)

[4] Both (i1) and (ii1)

The Lok Sabha and Rajya Sabha

seats in Haryvana are :

[1] 7and 4

[2] 10 and 4

[3] 10and S

(4] 12and 5

Which places of Haryana have been

notified as Ramsar site under

Ramsar convention ol UNESCO ?

[1] Sultanpur National Park &
Bhindawas Wildlife Sanctuary

[2] Kalesar National Park
Khaparwas Wildlife Sanctuary

&

[3] Nahar Wildlife Sanctuary & Bir
Shikargarh Wildlife Sanctuary

[4] Abushahar Wildlife Sanctuary &
Khol-Hi-Raitan Wildlife Sanctuary

Pl T. 0.
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84, EREET @ Prefifem TR d A

BT TF A o ?

[1] TeT gé o+

[2] s/IgE W et

[3] ufem @ Hew

[4] g 99

‘REX weu @ dwr @ aj &

(i) 96 Ao RER @ @& @ B
w0 Rt swh & oo T®
R F gue qRant @ &
CECEIEie s 111 ok oA G o}
T T W B

(i) 59% 9REOR & @ dE© o
ReE 9RaR ggEM amabed =
WM W R R weEW (D) #
T, I W@ dfts ReEw @
wirsT S

(iii) SRR TEoM WRE ¥ e
F I R Feaor At
¥ @ T ¥ R o o
Tad A wd deEet 3 Rra
A F F TR T Ay

T8 FE T TG Ffw

(1] %o (i) &8 &)

2] (i) o7 (i) wé &

[3) (i) ol (iii) &@ &

(4] (i), (i) % (i) a-@j,%u

Level-3/907

[20]

84. Who among the following Governgrg

of Haryana was a civil servant ?
[ 1] MuzafTar Hussain Burney
|2] Jaisukh Lal Ilathi

[3] Dhanik Lal Mandal

|4| Babu Parmanand

Read the following statements about

‘Parivar Pehchan Patra Yojna' ;

(i) This scheme identifies family as
a unit and is creating a reliable
socio-cconomic database of all

the families in Haryana.

(i1) An cight digit unique family 11 is
being issued for every family and
the ID will be linked to birth,
death and marriage records.

(iii) The data available in family ID

database will be utilized to

determine automatic verification
for various welfare schemes and
familics will not be required to

apply themselves for benefits.
Choose the correct codc
[1] Only (ii) is correct.
[2] (i) and (ii) are correcl.
[3] (ii) and (iii) are correcl.

|4] (i). (ii) and (iii) ar¢ correcl.
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ge. gRarn & Freffen emar & Q
fre T T ¥WRE & o g
g7

(i) @ TS F THIU

(ii) ST ER S

(iii) HrRd HRT Shiey

F&l FE F AT I

[1] (i) IR (i)

[2] (ii) 3R (iii)

[3] (i) 3R (iii)

[4] (). (i) 9N (iii)

g & ol 8§ e

st @ R B 3 R e
3 A den R ¥ ?

‘(1) ergm -

218

[3] CECHITSITEEE!

[4]%3@11%%‘

Ppifra oA X Ra @R

G) efaom ¥ g A @l
wgeT ag 2002 & i T 4l

(i) = S O e T &
@@ A A

(1] @3 (i) 98 oI

(2] &aa (i) 9&L®1
13] ()T (i) A F& B
[4] ()@ (ii) A T

Level-3/907

[21]

86.

(D]

Which of the following monuments
of Iaryana have the status ol State
protected monuments ?

(i) Sheikh Tayyab's Tomb

(ii) Shobha Sagar Pond

(iii) Bhimadevi Temple Complex
Choose the correct code :

[1] (i) and (i)

2] (ii) and (iii)

[3] (i) and (i1)

14] (i), (i) and (iii)

Which of the following institute is
responsible for the development of
infrastructure facilities in industrial
arcas of Haryana ?

[1] HARTRON

[2] HUDA

[3] HSIDC

|[4] District Industries Centre
Consider the following statements :

(i) ‘The institution ol Lokayukla was
cstablished in Haryana in the
year 2002.

(ii) Justice Pritam Pal was the first

Lokayukta in the Swae of
Haryana.
[1] Only (i) is correct.
[2] Only (i) is correct.
|3] Both (i) and (ii) are correct.
[4] Both (i)and (ii) are incorrect.
)T PLT.0.
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8. Pl & & #9 efmmm &

T & &1 g 727 e @ 7

[1] &Rarm & gems

[2] 95" w@ sRamm I <Ewd @
rgTelsT \

(B) sRarmr &% dJ@ omm @
ECES S 4

]

(4] eRamn FEeER srdm & T

go. ERAMT & f6E X @ RS ofE ax

B & &9 F A o & 7
[1] JoamH

2] |

[3] UG

[4] Prarit

[22]

89. Who among the following is pgy

appointed by the Governor of

Haryana ?
[[] Chief Minister of I laryana

[2] A Judge of Punjab and Haryana

High Court

[3] A member of Haryana Public

Service Commission

[4] A member of Haryana Human

Rights Commission

Which of the city of Harvana is

known as the 'City of War Heroes' ?
[1] Gurugram

[2] Sonipat

[3] Panipat

|4] Bhiwani

Level-3/907
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[23]

[D]

A - IV (PART - IV)
SIS (POLITICAL SCIENCE)

fadey : RIIET T % T 83 3 e g afte Aee gh

Ry AT & FEOR @y 3 R
W%Wmﬁﬁrﬁ@?ﬁom
Rl = o Remr ar ? .

[1] SO @« o8 ©

|2] e =@IgT

3] $Rw T

[4] ﬁToi?io:l'{ﬁ[%T”ﬂ;:[/_

P & @ 39 onfam & e &
¥ uE Tt

1] TR e

[2] g&o .

3] g @

[4] <=9 #AiEE

Prefefeg & @ @9 w9 fa@
AT HOHT TE BT

mdamﬁ'fﬁﬁ?ﬁnﬁaﬁqﬁﬂﬁmt
FEAT

2] YOSt & weE@ ogEd 3 fag Y
R .

(3] e d g @ A% S
#i famiar s

(4] GOt & fafe @ & A W
ST & freor &t Fwier BTN

Level-3/907

9l.

Which Minister  ol” India
formed the N. R, Pillai Committee 10

Prime

improve the lunctioning ol lorcign
policy ?

|'1] Jawahar Lal Nehru

|2] [.al Bahadur Shastri

[3] Indira Gandhi

[4] P. V. Narasimha Rao

Who among the following was ner
onc of the founders o' ASEAN ?

[ 1] Narciso Ramos

[2] Sukarno

[3] Thanat Khoman

|4] Adam Malik

Which ol the [ollowing is ner a

function ol the State Finance

Commission ?

[1] To review the financial position
ol'the Panchayalts

[2] To make recommendation regarding
grant-in-aid o the Panchayats

|3] Recommend the share ol GS'1' 10
the Panchayalts

[4] Recommend how allocation of 1ax
proceeds would be made among

various levels ol'the Panchavat

P.T.O.
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[24]

fra dfum d@es aftfrs & @ ‘
o W FodE dwEm F o
e & ' & 15 uieE ¥ s
w6l & g 8 ?

[1] 8931 Gy daes afufmay
[2] 90dl s walem sifufm
3] 91aT dfauF deee st

[4] 9241 Hfaa™ Heew sifafay .

1942 # fpw Bsm g R
yeaE 8§ @ = A § S8 s
qEeE ?

(A) 9Rd & FAYH U Mot d@huE
T & 11 A A

(B) dfgam @& R # 1 @
1 =y

(C) &l gt SR A Rt & ga
& W 69 &9 A@feq”

%e -

[1] %o A WEl ©

2} %39 A TR B &6l &
3] #7@ AR C Al &

4] WBG?I’{{}H?I%

Level-3/907

94.

By which  of the  [ollowing

Constitutional Amendment Act. the

size of the Council ol Ministers shall

not exceed 15 pereent of the total

number ol the members of the House

ol People ?

[1] 89th Constitutional Amendment
Acl

[2] 90th Constitutional Amendment
Act

[3] 91st Constitutional Amendment
Act

[4] 92nd Constitutional Amendiment
Act

Which ol the lollowing  statement/s
isfare  correct about  the  proposals
ollered by the Cripps Mission in 19427
(A) The Constitution ol India waus o
be  framed by an
Constitutent Assembly.

clected

(B) The Constitution  should  give

complete independence w India.
(C) There
Union

onc  Indian
comprising  all  the

should  be

provinces and princely States.
Codes :
[1] Only A is correct
12] Only A and B arc correel
131 Only A and C are corre?

[4] Only B and C are corred!
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96. RIETEE gtds "The Unipolar World
An Unbalanced Future' s gm0

Rrdt & ?

(1] o T HEA

12] @o o A 3R o THo TR
[3] e dE

|4|§Flﬁﬂ:l BRI AR o o
gfeme -

97. ¥ & @ fray wde 7 e
g REE A@g (SADF) ®@ dE
R #9 (SDF) & &1 § gaiied
Frar T & ?

(1] 1090 & RrEt e, 2002 .

[2] 11&F @ RrET @, 2003 .

2004

-

(3] 1240 @ Rray @=e,

-

(4] 1387 @ Rrat @5eH, 2005

ﬂﬂﬁzﬁtﬁ%ﬂ:ﬁﬁfﬁrﬂhqﬁﬁm%aﬁ
ﬁﬁmﬁfﬁaaﬁ@rﬁq—zﬂaﬁﬁm
7 B
111wﬁa%aqﬁﬁamfaﬁmm
i H P W P

98.

(2] W Zrr FRer A 9% A
3] Ry fae @1 owEa S
fem 7

4] Bl SR A A STED
Mg \

Level-3/907

[25]

[D]

96, The famous book "The Unipolar
world  An Unbalanced Future’ has

been written by -
[1] C. Raja Mohan
[2] T.5. Mowle and D.TL Sacko

[3] Colin Powell
|4] Francis FFukuyama and S, P
[ Tuntington

In which Summit mecting of” the

v SAARC. South Asian Development
Fund (SADI) was reconstituted 1n
the form ol SAARC Development
‘und (SDI)?

[ 1] 10th SAARC Sumimit
Conlerence. 2002

|2] 1lth SAARC Sumimit
Conference. 2003

3] [2th SAARC Summit
Conference. 2004

|4] 13th SAARC Summit
Conlerence. 20035

98. Which of the tollowing is nof a valid
criticism ol the foreign  policy
formulation process in India 7
[1] India has always lacked a

professional Minister ol Lixternal
AlTairs

[2] Domination of foreign aflairs by
Prime Ministers

institutional

development ol foreign services

[3] Inadequate

4] lixcessive Bk

conlidentiality
loreign policy matters

P.T.O.
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frer 1 A
m{;%?

1] sl gif ol gon @
aifwgfa

2] ooy fadl @ wemwwer &N
Fraem & e

13] Tt & wen s oW g
At B T

[4] FreElieer ot g Fdaor 4
3tfgfa -

P oMU 9T UF Faern @ Ay

fram o1 aar © 7

[a\}\'ﬂﬁaﬂ'{

(13) ITTE -

(C) e a7 3aW SrEy

(D) fert fasfa

- .

(1] 3&d A 3T B

12] &9 A 37 C

13] Fad B3 D

[4] A. B.C 3T D

T #@

ITBT 51 A IE

P T H Sferi

[?I;Tt’c‘méw

(3] #afaq T4t @ WEmf

[4] IOFE 3T WeEM FA O dEl
1 A-fer Tg

Frafifea & 4 o 9= raem 5

qiE T4 &7

[1| T8 J=a =y

[2| TAEH T e

13| A oA AR

[4] FerFar Iod <A
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[26])

it

]

Tt

99,

Which of the lollowing is nof an

imternational — obligation ol India
1 rarc 4

according o Article 512

[1] Promote international peace and
seeurity

[2] Incourage settlement al
international disputes by
arbitration

[3] Maintain  just and honourable

relations between nations
Promote disarmament and arms
control

On which ground’s a voler may he
disqualified ?

(A) Non-residence

(13) Crime

(C) Corrupt or illegal practice

(12) Unsoundness ol 'mind

Codes :

[T] Only Aund B

12] Only A and C

[3] Onlv Band D

(4] A. B, Cand D

To reorganize the states or 10 alter
their  boundaries. Union
Parliament requires

the

[T] A simple majority

2] Two-third majority

13] Consent of the concerned states

|4] Two-thirds majority
present and voting '

ol" those

Which ol the !nllm\mn High Courts
do mot have Beneh 9

|11 Bombay 1igh Coypy
121 Rajasthan | 1ig), Court
[3] Gujarat High Coun
[4] Caleuny | ligh Coury
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R
gt Y T e e
X H GIE T
N a1
A 13T T RRET i @fm
T
B. 147 =™ Rrax i
TR =
C. 1581 - Rmaviii. g
T
D. 16381 M RER iv. [
AT
7 :
A B C D
(1) iv & §i i .
[2] iii  iv i il
311 i i iv-
4] ii i i v,

104, Frfoiea § § -1 g9 T 6 ?

(3&7) (crer)
(1] FgAReT &7 @ STE G

sPear SAPEY, A
W
[zjmﬁﬁm

FHo Tdo YRRt
d’ri’aﬁtraw
FET

(3] F=fooq & : oAl rerd ¢
ey
Uifereag

[4] : @I
TR g1 g

o
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[D]
103. Maich List-1 with List-11 and sclect
the correct answer by using the
codes given below the lists :
List-1 List-I1
A. 13th NAM i. Malaysia
Summit
B. 14th NAM ii. Cuba
Summit
C. I5th NAM iii. Lgypt
Summit
D. 16th NAM iv. Iran
Summit
Codes :
A B C D
[1] iv i i i
[2] i iv i i
[3] 1 i 1 v
(4] u i ii v
104. Which of the following pairs is
incorrect ?
(Book) (Author)
[1] Communalism :Asghar Alj
in India Lngineer, Moin
Shakir
[2] Communalism :K.N. Panikkar
in India
History,
Politics and
Culture
[3] Communalism : Rajni Kothari
in Indian
Politics
[4] Communalism : Mujibur Rehman
in Modern
India

lTl
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[D] [28]
105. =1 & & SH-a1 a9 W B 7 105. Which of the following statcmenys
;M R T w %A ad W A is/are correct ? Sclucl.lhc correct
T Fifdm answer [rom the codes given below
(A) 7FE SRR & g Seones (A) The Universal  Declaration of
10 Re=r, 1948 @ 1&1@ Fluman Rights was accepted on
ferr Tar o - December 10, 1948.
(B)16 RE=y, 1968 @ anffs, (B) On  December 16, 1968  the
AR AR A aRE @ International ~ Covenant o
GWI'{‘TG,fm ST (ICEESCR), l-conomic.  Social &  Cullural
TRE AR Wik SR & Rights (ICIESCR). TCCPR and
AT Tk (ICCPR) 3R optional protocol were accepted,
THTH FR e Bre M (C) The International Covenant on

(C) MitE iR iR et &
IR wEEa (1CCPR) ok

and the optional protocol came
IHF T 28 W, 1976 into effect on March 28. 1976.
Ny

% -

[1] 3= (A) T8 3

[2] @&t (A) AR (B)w& ¥
3] @ (B) &t (C) & %

13] Only (B) and (C) are correct
A ,
[4] (A), (B) &l () w1 ¥ 141 (A), (B) and (C) are correct

Civil & Political Rights (ICCPR)

Codes :

[T] Only (A)is correct

[2] Only (A) and (B) are correct

5 G ;‘?ﬁg R aarg 106. By which Constitutional Amendment
Y w7 8 Acl voting 8¢ was reduced from
g 21 years 1o | § years 9
[1] 603 Ty ' |
. [1] 60th Amendmen,
[2] 6141 G%
‘ 12] 615t Amengy
= . cnl
[3] 62T dee
| [3] 62nd Amendmen,
4] 63ar demeA
[4] [4] 63rd /\mcndmcm
Level-3/907
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qad, 1993 ¥ &6 & Usuly afg
Y @ AR aE w P ¥
F9-a1 TEage! RO F&F a7 ?

9@ # WS wg W o

CIECIGN|

[2] $E/EEd e @ g @
A

|3]zﬁ[ﬁﬁﬁmﬂ%ﬂ;ﬁqaﬁmm}

(4] T AR FIR | qiREE .

free & [T &9 &1 9

W Ug e e ST

w1 Y T siaUsy aftE e @&
e g fear 7

(1] 7, 1974 . [2] 7 1975

(3] %, 1976 [4] 7, 1977
e & Preieg dO# H=-7
et g 3 R w9 3 &

S Tt @ fage Avsen &
& SraygHr o ©

(A) TSRy & Pafee @

(B) STRT 368 & SAUH
(C) Hwe & Tt @ A

(D) g &R I= AR

i_r.":

(1] Faa A AT B
[2] Fa@ A 3R B
[3) daw BT D
(4] A, B,CaR D

Level-3/907

[29]

01.

—

(=]
[o=]

[D]

Which of the following was mef an

important  outcome of  Russiun

President  Boris  Yeltsin's  visit 10

India in January. 1993 ?

[1] Assurance (o provide military
spare parts 1o India

[2] Issuc of Rupee-Ruble exchange
rate resolved

|3} Delivery ol Cryogenic Rocket
engines promised

[4] Russia 1o put pressure  On

Pakistan to withdraw from POK

When did the UN General Assembly
olficially pass a resolution lor the

establishment off New International
)

I:conomic Order
|2] May, 1975

[1] May. 1974

|3] May, 1976 [4] May. 1977
Which of the following provisions of
the Constitution require ratification
by not less than onc-hall’ ol State
.cgislatures for amendment ?

(A) Manner of
President
(B) Provisions of Article 368
(C) Representation  of

Parliament
(D) The Supreme Court and ligh
Courts

clection  of  the

States  in

Codes :

[1] Only A and B
|2| Only A and D
[3] Only B and D
4] A, B,Cand D
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Prefofea & @ @f9-r wEgE 99
frgs @t Aot § 787 o ?

[1] B #x @ oo, S®,
uReR, TRecw ar e

[2] 39« =@ § defia Rdgs olRX
BT 110 § wEia Rl ar
dgwwa ¢

[3] &K W &9 SR oA #
faf

4] oa # deg By 9§ 99 @
fafeanT

Fr=fafed & € @9-91 I TaT & ?

[1] SRR @ <@ & gafkid B
S Gl B

[2] SRR @& Tan & & dkue &
mmﬁawﬁl/

(3] SRR 7% Far & 6 wREm
R Igaedl @l ATl el e &

[4] SRR W@ B HYEEA
e Gg-w ddies
TR SR &

Level-3/907

[30]

10.

2o

Which of the following provision

does nof belong 1o the category o

Moncy Bill ?

[1] Imposition. abolition. remission,

alteration or regulation ol any Lax

A bill  merely involving
expenditure and does notcover
any matter mentioned in Art. 110

[3| Regulation of the borrowing of

money by the Governmentl

Appropriation of moneys out ol

the consolidated lund ol India

Which of the lollowing statements is

incorrect ?

[1] The Preamble ol India is

enforceable in a Court of [.aw.

[2] The Preamble indicates the

SOurce from which  the

Constitution derives its authority-

131 The Preamble stes the objects
- which Constitution secks 1o promote.
[4] The Preamble constitutes India
INlo a sovercign socialist secular

democratic republic.
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A B C D

(i i v i
2] 6 v i i~
3]ii i iv il

[4] i iv i i
113, HXT F TEH A T A9
O { Y g
[1] Fa=%, 2002
[2] f&E=R, 2002
[3] Sad, 2003 ~
[4] ®Ed, 2004
14, TEEE B oA § waa Jad T
i fafed FIRT :
mmmﬁzsoamamﬁ
g
lzllzwrﬂaﬂﬁrmﬁrﬂfﬁq
&M
méﬁzmﬂmwﬁﬂéﬂw
Bat 3 it e

Mmﬁﬁfﬁmm@éﬁﬁﬁﬂﬁ
ST R e, e, s,
F AR FA e B gy A AN
T U AR AgHa o

Level-3/907

[D]

112. Match List-I with List-I1 and sclect

(he correct answer by using the
codes given below the lists

List-1 List-11
A. K. C. Wheare i, India is a casc sul
peneris

3. Alexandrowicz il System of
Government which
is quasi-lederal

C. Appleby iii. Federation  with
strong centralising
tendencics

1. Jennings iv. Indian system is
extremely federal

Codes :

A BB C D

(i di v
2] i iy di
3] i1 v i
|40 iy i i

India's IFirst Nuclear doctrine was

ofticially released in :

[1] November, 2002

|2] December. 2002

|3] January. 2003

|4] February. 2004

114. Identify the incorrect statement

about the composition of the Council

of States :

[1] The Council ol states shall be
composed of not more than 250
members.

|2] 12 ol the members shall be
nominated by the President.

[3] The remainder ol” 238 members
shall be representatives ol the
states and the Union territories.

|4] Nominated members  shall - be
chosen from amongst persons
having ‘'special  Knowledge or
practical expericence in literature
theatre. science, art and social
service,'

[y
(-
[ ]

:

i

P.T.O.
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[D)
15, P & & e g 0 S

Il]ﬁﬂﬁ?%@:ﬁﬁr:qﬁ@m
(2] T e AR : Ao Fo P
F

[”Wﬁq;m:llo‘éﬁom@?ﬁ

4] Rz T P © T A

aRd 3 seh @ wEl § g
Tog FEA @ faeq S

ot
b
(=1]

:

(1] Teufy @ geEy o R eF A
arire & O g A @

[ﬂmﬁﬁﬂ?ﬁiﬂaqiﬁfqﬁh

3] UguR dAq U & Swivd @
IRy 9T HEEn &N Eel S
TEH & /

[4] TRy O TR Ged T Ew

N TH ¢

Level-3/307

—

i_

Which ol" the following pair iy

incorrect ?

[1] 1 ook [-ast Policy : Narasimha
Rag

|2] Ncighbours Isirst Policy @ 1L K.
Gujaral

[3) Nuclear Doctrine : A B.
Vajpayee

[4] Genuine Non-alignment : Rajeey

Gandhi

Identily  the incerrect  stalement
about term ol oltice of the President
of India ?

|1] The President term ol oflice 18
five years [rom the date on
which vacancy occurs.

[2] The President is eligible for re-
clection.

[3] The President may be impcuuhu‘d
only lfor violation of the
constitution,

T L] o - in

[4] The President may  resig?

o el

wriling under his hand addre>**

to the Vice President of Indi
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[33]

a0 TR H AN O SR
e e @ REr S °

|2] g9 SEE F YU T qEE
H wfy g B g & (FFH
A oo AEEd & e 3
U S fafeEer e 8

3] aR w9 TS GEA W gH wed
FEm & g E U SuRe $IK
oq 3 a9 Gedl & @A § #9 -
Rrerd ggaa &1 G T fean S
Y e W e S
ST Bl

[4Jvr§qﬁaamﬁﬁqraﬁwaﬂ%
¥ Q 2y g fear s

118, IR-TeE F #, AdE fadw A F

¥ S@Red @ ar d Fe-w
TAd & ?

(1] 9Ra @ &= fed &1 T8

2] SRt R & wEfEE & Y

3] WS A § e & oW @ A
m

4] T et & @ @
TSP momerar oTHRE ST

Level-3/907

117.

=

[D]

Which of the following statement is
incorrect aboul impcachment of a
Judge of the Supreme Count ?

(1] A motion addressed 1o the
President signed by at least 100
members of the [Lok Sabha or 50
members ol the Rajya Sabha s
delivered to the Chicl Justice ol
India.

[2] The motion is 1o be investigated
by a Committee ol three members
(2 Judges of the Supreme Court
and a distinguished Jurist).

[3] If the motion is passed in cach
[Housc by a majority ol that
lHousc and not less than 2/3rd of
thosc present and voling the
address s presented to  the
President.

|4] The Judge will be removed afier
the President gives order for
removal on the said address.

In the post-Nchru cra.  which

statement 1S
regional objectives ol Indian forcign

incorrect about the
policy ?

| 1] Expansion ol India's  military
pnwcr

|2] Promote bilateral ties with South
Asian neighbours

|3] Minimize Chinese influence in
neighbouring states

[4] Seck US mediation 1o resolve
Indo-Pak problems
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[D]
&@«Iﬂ@-ll%ﬁaﬂﬂﬁmﬁ{
%@ gel

grEt & T g ™R
I W TG99 HIT

@_l -1
(3r=9) (e fem
gRee)
A, TR SRR 75 (63 1 12)
B. B i 40 (34 + 6)
C. 7R iii. 58 (50 +/8)
D. eI iv. 78 (66 + 12)
?‘:
A B C D
Nnyi i v il
(2] fii i v i
(3] iv i il i
4]i i il v
120. Pretiatad & & $iF-a1 g9 AT 27
(am) (et
Iy &
Frofia)
[1] &= el T 16 TR,
S g9 9Rd 1992
g
(2] dwEre W24 9B,
T axa W 1973 -
e 3T
(3] THo Ko &= : 11HMd, 1994
G A EG L)
[4] ¥ A AW ;25 FE,
I | 1976
Level-3/907

[34]

119,

2=

the

A. Andhra Pradesh 1.

Match List-I with List-1I and sclect

correct answer by using  the
codes given below the lists :

List-I
(States)

3. Bihar
C. Maharashtra
D. Telangana
Codes :

A B3 C
|1] ii i v
[2] §ii v
|3] iv i iii
[4] i i ii

List-I1
(Members
Legislative

Council)
75 (63 +12)
i 40 (34 4 6)
58 (504 R)
78 (66 + 12)

v,

D
iil
i
i

iv

120. Which of the following pairs 18
incorrect ?

—_—

1]

2]

3]

(4]

(Case)

Indra Sahney & :

others Vs.
Union of India
Keshavanand
Bharti Vs. State
of Kerala &
Others

Vs.
India

Mancka Gandhi
Vs.
India

R. Bommai :
Union of

Union of

(Decided in
Supreme
Court)
16th
November.,
1992

- 24th  April.

1973

11th March.
1994

+ 25th January-

1976
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121. PrRie ¥ @ A9 Reres ol

ST # o T B g
e & 7

[1] @&

[2] @ THRA

[3] Wi & A

[4] e ffes

122. P & @ =9 &9 ok T s

TG & 9§ FH-6 FH 7 ¢ 7

[1] dmioe i
2] A& g feran
[3] <@mer 36 Afesram
(4] B Bl
123. 9 & § 39 ‘Sl ey’ g&iw
B ACH § ?
[1] et AR
[2] Rt @ Riggas
[3] U= =t
[4] TEaE THR

124. Preffeg & & REféT e

(2005) & FEFH H € 7

Level-3/907

[35]

121.

—
™o
a%]

:

e
W

ot
f=9

[D]

Which of the following thinker

considers cconomic equality
pre-condition to political liberty ?
[1] Laski

|2] l.ord Acton

[3] Alexis de Tocqueville

|[4] Ralph Miliband

as 4

Which of the following pair aboul
trust territory and its administering

state is fncorrect ?

|1] Tanganyika Irance
[2] Nauru Australia
[3] Rwanda Urundi Belgium
|4] Somaliland ltaly

Who among the following is/arc

the author/authors of 'Industrial

Democracy' book ?

|1] Karl Marx

[2] Sidney and Beatrice Webb

(3] Robert Dahl

|4] Ldward Tufie

Who among the lollowing g the

author of 'Debating G
(2005) ?

lobalizatiop'

| 1] Zbicgnew Brzezinski
|2] Henry Kissinger
[3] Richard Rosecrance

[4] David Held



[

o

Join Telegram Group "HaryanadJobs.in"

125, Prefeg & @ @m-a g

gaferd 787 ® ?

[}] o THo HFR & AR,

[2] R & SgER ¢ AR g
o TEY §54 Y orgend ol ©
& a8 R AR @ ggIA AT
g FE A& @ i

3] TER & AN ¢ AR A wEH
geqd e & ar )
aragefar ofx fadssefierr o Y
Rearg X ff gFR & o o
afz 3 argend & € oo A @
FF ghemr | Y @
Y N SGEL (A ol

[4] Tl Dafem & ogER ¢ TET

3

b
e

g
4y
s
8,

N,
3
ol
g

H

Prefifeg & @ f9-978 &9 19
3 T B HEY F W BN ©

HT :
(A) T o &7 §  @fed
T B

(B) U9 X @u af & o &l
dofe W &Y Ty B

(C) g™ IR T 3 §HA ARw
IR B

ge -
[1] F&e A [2] ASR B/
BIBadRC |4 AdR C

Level-3/907

Yt

:

Which of the lollowing pairs is not

correctly matched ?

|1] According to S. S. lyenger,
bicameralism in democracy is an
outworn  creed'  and - second

chambers are retained 'to provide

the ambitions of

scope  lor
not bhe

partymen  who may
accommodated in the first.”

[2] According to Abbe Sicyces : "I a
sccond chamber dissents  [rom
the first. it is mischievous: il it
agrees with iL. it is superllous’.

|3] According to Finer @ "I the two
assecmblics agree. so much the
better for our beliel’ in the
wisdom and justice of the law: if
they disagree. it is time lor the
people  to  reconsider their
attitude”.

|4] According to Benjamin IFranklin :
‘almost any sccond chamber is
better than none'.

Which of the following statement/s

explain the relationship between the

State and Socicty ?

Statementis :

(A) State is  politically organized
society.

(B) Both State and  Socicty ca"
legitimately usce force.

(C) Society and State have the same
moral purpose.

Codes :

[1] Only A

[3] Band C

[2] Aand B
[4] A and C
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Prer 3 & B g 7 7
(efeerr) (e =)
[1] =rgst 1978,
[2] s 1984
[3] BT e g 1980
(4] §ar 1976

Frfofea ¥ & R w1 “osiar &
Rem macEe @ R 3 ofts
afegr ok T smaafies ¥ ?
III@IOQHoﬁEf

[2] S8 E®

3] Rt _

[4] W TERA

-lq?rgﬁ-n%ﬁamaaﬁt{@r

gﬂ% Ru T gz & @&t SR

H TG HIT
-1

-1

(Reme) (@ 3 aRem)
A. Sio i uf @ WA e
LSRG
B. Fo Mo ii. o o F T 8
g gea forg g7 T
e Bee i, @ & W AR
¢ Illﬁ?ﬁaﬁm 5
iv. Bt @
D. & N R A B
Rygid, W © IB
el
WA B c D
i B

i v i .
%i/;i Cgii i v
(4 iii - v !

Level-3/907

[37)

(=

[

-

D]

b
. 7'l !
y : . it jneorreet
Which of the [ollowing pair 1> m Vear)
(Institution) (F"““d“"""

| 1] Manushi ]3;2

[2] Jagori 1( -

|3 Forum 19
Against Rapce

4] SEWA 1976

d. n'[‘hc
absurd

v of

Who among the following sal
theory ol nationality is morc
and more criminal than the theor
socialism" ?

[1] J. S. Mill

|2] Bernard Joseph

[3] Zimmern

[4] l.ord Acton

Match List-I with List-IT and select
the correct answer by using the
codes given below the lists :

List-1 List-11
(Thinker) (Definition of
Democracy)

A. G. Sartori  i. She IS
cverybody's
mistress.

B. J.R. Lucas ii. lligh Town
name for
something
\\'hich does not
CNisl,

C. l%c'mard ii. Is a noun but

Crick should be  an

3 . adjective,

- Lranston |y, Is_”nmhing but
different
dpclrincs in
difTerent

Codes people's mingds,

Wb b g

[2] ii Y ! ™

Il v i i

3] i i iv

4] iii v i ii

P" 'Tt.' 0.
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[D]

o Sui bt
(1] % 3 : O el & ay
2] ST 4 : T T H I
(3] SR 5 : T | @A

(4] STBT 6 : TR A fRepraH

Prfefed & @ H9-9/A FF g8

R

(A) 9g-Fterar dfle B QTR
fergheam &

(B) W-Frdea afde iR )
afica & adats iR e @
3 JUF B UX ST o

B
ot

(C)ws vo-Fuy ™ # T
A A H D T B
ol & g A o B

%

[1] 3w A 3R B @&r'E

(2] Faw B3R C 9el &

[3] 3 A 3R C w8 &

[4] A.BaRCwd &

Fefefen & @ @991 a3
AT W T 2
[1] S a5 Eieh omee aen B

(2] e S Foe & ded ok

< g@ el

[3) TR A W T 2 R T A
W

(4] S A B IR
ferepftrer ¢t T v ¥y

Level-3/907

Il
fer

T &

[38]

130,

Which ol the following pairs aboy
articles ol the UN Charter 1s wrong
[1] Article 3 : Aboul original

members
|2] Article 4 : Lligibilities oFnew
members
|3] Article 5 @ Resigning lrom
membership
[4] Article 6 : Termination of
membership

Which of the lollowing statement/s

is/are correct ?

(A) Secularism is a basic leature of
the Constitution.

(3) Sccularism is promised upon the
separation ol and
private spheres ol individual and
collective existence,

the public

(C) In a sceular society. the state
requires the sanction of religion
10 legitimize its power.

Codes :

| 1] Only A and B arc correct

[2] Only B and C are correct

[3] Only A and C arc correct

[4] A, Band C are correct

Which of the following is

incorrect demerit of democracy ?

an

[1] Democracy is a very expensive
form of government.

[2] Democracy is slow and sluggish
in its movement,

[3] Democracy  puts  emphasis 0"
quantity and not quality.

|4] Democracy fajls 1o develol

political intelligence of the peoplé
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138, T T @ R B - 133

133. Identily the incorrect statement :
SN - . arecented
[1] H’jg‘ i E;lliil qRomat [1] Caste communilics arc prescitte

as determining clectoral outeome

e R

2] s T & e e A |2] Castes work as pressure groups
UGG T IR i G e <9 influencing  the  governance
e &l A H B agenda ol the Indian State.

[3] oRG § g @fbgar o7 @ [3] Caste activism in India is as per
'if&f & HIEY ¥ =R A @ the vision ol those who framed
HieE g=mr on the Constitution of India.

(4] SRl wmQ TeETeE T, S |[4] Caste considerations  structure
W IR FEE # wE R political partics. their leaderships
HW T and programmes.

[
(4]

134, Frefofed & & - E'IEEFEI T Al 134. Which ol the lollowing is an invalid
4y e \‘ﬂﬂfﬁf‘l AT & 7 criticism of the Veto system in the
United Nations ?

(1] T8 SO & faera & Swiga @ [T] [t is a violation of the principle

ol equality.

|2] Itignores global opinion.

[2] g8 Rva W @ STaRT Fl 6
(3] 96 @ we @ Frgw A [3] It symboliscs

illl[(’lcracy of

~ Wi B permanent members,
|4] GO SN FEIfEr G ST 141 1t is used by great powers o
3 ad H & [ B ST 8 promolte terrorism,
Level-3/907 P.T. 0.
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1 @ ga-ll 8 s it ok
gﬂ%ﬂ%ﬁnw?@ﬁ@aﬁ
I H TAE W

a1

g1

A. STRE T@ET i 1998
B. 3= i i, 1999
C. 3 REgg i, 2000
D. SR gHd v, 1984
%e -

A B C D
i 7 v i
21i i v i<
Blii i i v

[4] 1i i iv i

VIR T A (1945) & gelian
AR wefeM ¥ et B § @ -
T AT E

Level.3/907

[40]

135.

[
[=1]

Match List-I with List-II and sclegy
the correct answer by using the
codes given below the lists :

List-1 List-11
A. Operation Talwar 1. 1998
3. Operation Shakti . 1999
C. Operation 1. 2000
Meghdoot
D. Operation Khukri ~ iv. 1984
Codes :
A B C D
[T] 1 v i
12] i i v ii
3] i1 i v
|4 i v

Which of the following statements
about review and amendment of the
UN Charter (1943) is incorrect

[T] Art. 108 and 109 or Chapter 18
of the UN Charter deal with
review and amendiment
provisions.

Any amendment
Charter can become cffective
only  when all  permanent
members of the security council
and  two-third UN
support it.

A general conlerence of the UN
to review the Charter can be held
only with the support of 1wo-
third members ang 10 members
ol the seeurity council,

1 Su.Ch a4 conference is not
organized before 1 annual
conference

in the UN

members |

4]

of the @eneral
Asscmbly than it can be
Organized with the support ol

Majority

ol Assembly members
and 7 see [

Urity counci| members
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[41] [D]
B R R Ed g b

13Z. Which of the following pairs arc

correct

(A)ij:[: h»
EH g
mﬁgﬁm

(A) Pranab Bardhan : The  Political
lrconomy ol
Development

in India

(B) @ Fech : R ®T U5 et (B) Awl Kohlj ; l'he State :1er
3 Sy Poverty in
[ndia
{C) GTHT\’f[ %D 'é?[ . éaaqﬁz QTrT Fﬁ?ﬂ:[

(C) Amartva K. Sen Development
as Freedom
1] & (C)ud § [T] Only (C) is correct
[2] Faw (B) I (C) T8 g [2] Only (B) and (C) are correcl
[3] Faa (A) 3T (B)#er & [3] Only (A) and (B) are correel
[4] (A), (B) 3R (C) 581 & [41 (A). (B) and (C) are correct
138. F=iifEd & ¥ - oo 7o 2

138. Which of the following statement is
incorrect ?

[1] 992 @y =z el o= § & [1] Parliament may by law form 4
IHH THA T Hear & new state by separation  of
g1 Al TG B oA a3 o lerritory  from any state or by
Hl MRt 3w B =g Ay I uniting two or more stiates o
feredt 90 & 991 & Ay e parts ol states or by uniting any

\ qU T F A HT ) < lerritory to a part of any Siatc.

2] gz fofg zro &9 ™ F@ é};\r‘ [2] Parliamen may by law incregge
e T ) the arca ol any State,

(3] wET fafr zra fFdl T @ 8 [3] Parliament may by law diminish

p gar g the area of any State.
4] @ Rfy @ & tfgur [41 Parliament may by law gier the
[ i EE ¥ qfads BT gl federal structure of Constitution
of India.
evel-3/907 P.T. 0.
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139. IR (A): G § T FIEE D

d4a @) Feem @ [g
Yelmror T e
Rgr ot E WA
Fl

Yedrr A RRsh &
A RReR awm A
gy T & A
Prfor sferr & 31
el S

ol R &t =ifRrm &9 8 T
AR R, A T &= B

F (R) :

(1] A

g

2] A &R R 31 SRR &9 § T
T AR R, A @ T FEA
TE B

[3] A ¥ Af R T o
[4] A7 & afFT R T8 B

@-lmqﬂ?—u%ﬁamaﬁﬁqaﬁr

gl 3 A9 R e ogE ¥ & @
I H T4 FHIT ¢

-] g1
A. FEee Il i, SOEE
B. i ¥ i, T
C. safmfor srRe= /i, 3@

D. faus SR iv. HEw

%< -
A B C D

[ 6 & iv i
21§ v i iii
B i iv i i

Mliv 6 1 i

Level-3/907

[42]

39.

=
o

Assertion (A) : Globalization providgg
the stimulus and the
site lor changing stae
busincss  relations

India.

Reason (R) : Globalization  made
forcign capital and
Indian  capital  in
foreign markets more
central 1o policy

formulation process.

[1] Both A and R arc individually
true and R is the correct
explanation ol A.

[2] Both A and R are individually
true but R is not the correct
cxplanation ol A.

[3] A is truc but R is false.

[4] A is false but R is true.

Match List-I with List-Il and sclect
the correct answer by using the
codes given below the lists :

List-I List-11
A. Silent Valley i. Uttarakhand
B. Dalit Panthers ii. Gujarat
C. Nawnirman  iii. Kerala
Andolan
D. Chipko iv. Maharashtra
Andolan
Codes :
A B C D
V] 1 i v i
[2] ii v i i
[3] iii v i i
[4] iv  dii i
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SHR & qute R $ an #

Frafifad & @ fa/2 w= o
T SR 7

(A) IR e ¥

(B) 3R 199 & B[ 9w oy
(C) SR w3t ¥ s ¥
(D) 31HR Fhm ¥

%< -
(1] & (A) T &

12] &&= (A) 3T () i, B
[3] &aa (A) 3R (C) i &
[4] (A). (C) 3T (D) Tt &

et & @ -9 g T ® 7

[1] HgF T S e
CLE

[2] SRS 99 G7e : e

[3] fovT 3/ 99 @ &=
[4] fvq 9w fasie des @ SAa

HHFGT (A) : TG H B A

AR Turdardr B

FRY (R) : W AT H FH
FA © IR TF omes T

# iy wg F 8

(1] A @R R aIfF &9 8§ & @
R R, A @t SR arer B

[2] A @R R T @ @ E
AR R, A H R AT &

(3] AFE ¥ W R T &
[4] AT ¥ W RE &

Level-3/901

[43]

[D]

141. Which of the following stalement/s

ot
s

about the Legal theory ol Rights
isfare incorrect ?

(A) Rights arc absolute.

(B) Rights arc created by the state.
(C) Rights are inherent in men.

(12) Rights arc artificial.

Codes :

[T] Only (A) is incorrect

|2] Only (A)and (B) are incorrect
[3] Only (A)and (C) are incorrect
[4] (A). (C)and (D) arc incorrect
Which of
incorrect *?

the following pair is

| 1] United Nations Industrial

Development Organization :
Vienna

12] International Labour Organization

> LLondon

[3] Universal Postal Union : Berne

[4] World Meterological Organization

- Geneva

Assertion (A) : Aristotle's method is

scientific and realistic.

Reason (R) : Aristotle projects his

imagination into the future ang

portrays the picture ol an ideal stae.

[1] Both A and R are indi\'iduull}-
true and R is the
explanation of' A,

[2] Both A and R are individually
true but R is not the
explanation ol A.

[3] Aistrue but R is false.

[4] Ais false but R is true.

correct

correct
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[D]

144, Prefifed @ & -8 ofeEwE A
% fafieer 787 8 ?
(1] SREF QR & e SRR 3 B

[2] SRAEHE T &, W A SR
Th FEHT F 9ar H Bl

[3] At & a% omem A W © 6 A
W F O e @

[4] ¥ TS TEM AR AT @
wRE w B

145. GE-1 | g1 ¥ B ARl &k
T & A Reomoge * ¥ wd
I H TG FHIC

N1 T

A. TEHieH i. 21 3FRG - 7
LS AT, 1944
B. Ore=T ii. 25 I - 26

g A, 1945

C. B¢ 39 iii. 14 37T, 194]

D. ¥ Wit iv. 4-11 Fad,

1945
% -
A B8 ¢ p
[1] iv i i iz
i v i i
B i i iv i
M 70
Level.3/g9;

[44]

144. Which of the [ollowing is nor 4
characteristic of a dictatorship ?
[1] People are given their rights by
the Constitution,
|2| Dictatorship believes in one
party.
programme.

onc leader and one

[3] People arc cxpected 1o have

complete faith in their lcader.
[4] The leader represents national
unity and prestige.
145. Match List-1 with List-IT and select
the correct answer by using the

codes given below the lists :

List-1 List-11

A. Atlantic . 21 August -7
Charter October. 1944

B. Yala il, 25 April -26

June, 1945

C. Dumbarton iii. 14 August,
Oaks 1941

D. San iv. 4-11 February,
Francisco 1945

Codes :
A B e .p

Miv &

Rl v

Bl 6 o

4] i v .
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[45] [D]
146. AR (A) : IR d@fRes Prfeal 146, Assertion (A): The desire of  the
W ™ ' mi:lk(l:irlillinn ::)[.CI‘L. llul.hi
cons AlC ¢
EEN 3l qﬁ[@ﬁﬂ secular state was also
HHaE: IR dgel essentially a response
oS e @ u to India’s plural social
e quﬁv_m il ordcr.
FRT (R):  9dm d@Rar Riaett Reason (R): The framers ol the
. Indian  Constitution
:%W;F;?; e placed the Unilorm
T REED Civil Code in the
<t § e R directive principles
P p
[1] A 3R R =fer@ = & 3N o8 Of Stateifioficy.
YIRRAD 7l 3 [1] Both A and R are individually
’ true and R is the correct
[2] A 3R R =fFma & et wE explanation of A,
g %ﬁﬁ,R. A & w8 e Té [2] Both A and R are individually
I truc but R is not the correct
(3] A& ¥ 3R RTeE B explanation o’ A.
[3] A istrue but R is false.
[4] REE & QAR A T B [4] A is false but R is true.
147, ASEHS Agen & Fr=ifeiEg § § 147.  Which of the following features of a
HH-a R 7 R ? Presidential system is incorrect ?
[1] TR & 99 o § giear & [1] There is separation of powers
3, between the three branches of
qaFHht . overnment.
2] S A A ¥ wEE T i
e 3 [2] The Chief Executive cannot be
SEDINT easily removed from the office,
[3] AU 9 dRERE B [3] The Executive  Power is
2 U5 uF ey H PR e R undivided, it is deposited in g
N TG F ﬁf@q[ I F&@T & chsidenl who is both the head of
W aar State  and the head of
Government.

[4] Fraicr @ fasard TETE @ [4] The exceuti
: Xeeutive can be dissolved
w7 R ST ST B through no confidence motion.

148. Fpg af ¥ gE U GOT e #H 148. In which year membership of the UN

wE e 11 15T & ? Seclllsl‘i;}’ council was raised from 11
Lo ;

[1] 1964 [2] 1965 [1] 1964 2] 1965

[3] 1966, [4] 1967 131 1966 (41 1967

Level-3/907 P.T O,
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[D]

L. g7 @ & A A Pl & 9
a1/ T qe /e 7

(A) IR & FR H ST
P ameX 21"

(B) 36 e & o O ARG
2 Ry § o g=| R @
Gﬂ%%r/

(C) fadef wrar-Ren & 3 & oo} Y@
U 9= T8 & AN @ A g

7
(1] #a@ (A) Tl &

[2] &&= (B) @R (C) T &
(3] (A). (B) 3T (X &@ &
[4] & T &

—t
(i
o

I.

e 3 & S9-6 3W T © 7

(1] “sfer § Oferfes TRl

YO A 115 A e
ey sEer F u o olw foe
9% @ A 81" —

@] ‘el @ Afaer e s
P I AE S T g
i MR @ B — arE

[3] “sfem Ao Sed &
Uik € e og #&
AT W Hy W AR oo
Y orl o W T Ug
Teham” — @t

14] “sfer dfa-famst @ Few gan
— W - e

[46]

]

149. Which of the [ollowing statement/s

about the principle of Jus Soli is/are
correct !

(A) The place ol birth is the guiding

consideration in conlerring
citizenship.
(B) According o this  principle,

children of a citizen born abroad
become aliens.

(C) Children ol alien parents born
within the territory ol the state
become its citizens.

Codes :

[1] Only (A) is correct

[2] Only (13) and (C) are correct

[3] (A). (B) and (C) are correct

[4] All are incorrect

Which of the following pairs is
incorrect !

[1] "Rights are  not  historic
conditions possessed by man in
the childhood ol the race. but
since lost." — Laski

"The maintenance ol right is
much more a question ot habit
and  tradition  than of the
formality of’ written enacument.”
— Laski

|3] "Rights, infact. are thos¢
conditions ol social life withoul
which no man can scek, i.“
general, 10 be himself at his
best." — Laski

[4]

"Rights are the crystallization of

customs.” — Laski
_——-"-‘f/






